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Find each measurement indicated. Round your answers tﬁ the nearest tenth.
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Find each measurement indicated. Round your answers to the nearest tenth.
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5. A wire attached to the top of a pole reaches a stake in the ground 20 feet from the foot of the pole and
makes an angle of 58° with the ground. Find the length of the wire.
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6. Henry is flying a kite. The kite string makes an angle of 43° with the ground. If Henry is standing 100
\feet from a point on the ground directly below the kite, fi:ﬂ:he length of the kite string.
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angle which the ladder makes with the ground.
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: 7. A 25 foot ladder leans against a building. The ladder’s base is 13.5 feet from the building. Find the

angle which the ladder makes with the ground.
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3. @ In'order to reach the top of a hill which is 250 feet high, one must travel mﬁ.&%aigt ugliad I,J\_\-h

which leads to the top. Find the number of degrees contained in the angle which the road makes with the -H-\
horizontal,
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9. A ladder leans against a building. The top of the Iadder reaches a point on the building which is 18

feet above the ground. The foot of the ladder is 7 feet from the building. Find the measure of the angle
which the ladder makes with the level ground.
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